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QUESTION 1

Your company is merging with another company. You are asked to set up your AFF A400 cluster to support two
networks that have the same overlapping 192.168.1.0/24 subnet.

In this scenario, what must you create, to enable the same subnet with overlapping IPs on the same cluster? (Choose
the best answer.)

A. broadcast domain
B. IPspace

C. subnet

D. failover group

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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Windows 2019 Host — Dual HBA — ALUA

FC-Switch-2

; i mn
FC-Switch-1| @@ oy e

Controllers/

MNodes N

WiGroup
B mapping LUN via
BFCP - WWPN
WiSCS| - |QN/EUI

The exhibit shows a Windows 2019 server with two FC HBAs using ALUA. How many paths to LUN1 are
active/optimized? (Choose the best answer.)

A. 8
B.2
C.1
D.4

Correct Answer: C

QUESTION 3

Click the Exhibit button.
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clusterl::> volume show =-vserver val =is-constituent *

Vsarver Volume Aggregate State Type Size Available Usaedh
va2 g1 - enline AW 200TB 7€TB 62%
vs2 f£g91_0001 aggrl online AW 25TB 10MB 99%
vs2 fgl_0002 agg:2 online W 25TB 12TB 524
vsl fgl_0003 aggrl online AW 25TB 10TB 60%
vs2 fgl_ 0004 aggz2 online W 25TB 11TB 604
vs2 fgl_0005 aggrl online AW 25TB 10TB S6%
vs2 fgl_0006 aggr2 online W 25TB 127H 52%
vs2 fgi_0007 aggrl online W 25TB 10TB 608
vs2 fgl_0008 aggr2 online aw 25TB liTe S56%

clusterl::> aggr show

Aggregate Size Available Usadb State tvols Nodes RAID Status

aggrl 300TB 103.71TB 65% online 30 clusterl-01 raid_ dp, normal
aggel_root 368.4CB 15.83GB 6% oenline 1 clusterli-02 raid_ dp, normal
aggr 3007TR 176.517TB il% online 25 clusterl-02 raid dp, normal
aggrl_root 368.4GB 15.83GB 6% online 1 <clusterl-01 raid_dp, normal

4 entries were displayed

You have an ONTAP cluster that is running a FlexGroup that is serving SMB data out to various users. One of the users
receives an error when trying to modify an existing file.

What is the cause of the problem? (Choose the best answer.)
A. The FlexGroup is full

B. The constituent is full

C. The FlexGroup is offline

D. The aggregate is full

Correct Answer: B

QUESTION 4

Click the Exhibit button.

Filesystem kbytes used avail capacity Mounted on

/vol/netapp_n01/ 347277960 39072700 308205260 11% /vol/netapp_n0l/
/vol/netapp_n01/.snapshot 18277784 14637544 14637544 20% /vol/netapp n0l/.snapshot
/vol/netapp_esx/ 996148 1112 895036 0% /vol/netapp esx/
/vol/netapp_esx/.snapshot 52428 18252 34176 35% /vol/netapp_esx/.snapshot
/vol/netapp lnx mi/ 996148 10808 985340 1% /wol/netapp lnx ml/
/vol/netapp_lnx ml/.snapshot 0 0 0 0% /vol/nmetapp_lnx ml/.snapshot
/vol/netapp_esx_ml/ 956148 644 955304 0% /vol/netapp esx ml/
/vol/netapp esx ml/.snapshot 52428 26348 26080 50%

Referring to the exhibit, which volume has a snap reserve value set to zero (0)? (Choose the best answer.)

A. netapp_esx_ml
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B. netapp_esx
C. netapp_Inx_m1
D. netapp_n01

Correct Answer: A

QUESTION 5

You created a new SVM with two NFS data volumes. You have a Linux host on the same subnet as the SVM that is
able to NFS mount, however a Linux host on a different subnet is not able to NFS mount. You confirmed that the export
policy rules are correct.

In this scenario, which configuration will solve the mount failure? (Choose the best answer.)

A. The NFS server is not configured on the SVM.

B. NTP is not configured on the SVM.

C. NFS auditing is not enabled on the SVM.

D. The SVM default network route is missing.

Correct Answer: A

NSO0-161 VCE Dumps NS0-161 Study Guide NSO0-161 Braindumps

NS0-161 VCE Dumps | NS0-161 Study Guide | NS0-161 Braindumps 5/5


https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html
http://www.tcpdf.org
https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html
https://www.pass4itsure.com/ns0-161.html

